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Problem

John travels from A toB a distance of 80km

at a speed of 20km h He then travels from

B to C a distance of 60km in 3 hrs He then

travels from C to D in Shri at 15 km hr

what was his average speed from A CoD

Average Speed TOTAL Distance
Total Time

Speed Time Distane
A toB 20th 4hr 80k

B to C 3hr1 60km
toD 5km h Shut 75km

Speed, Density, Pressure



TOTALS 12his 215 Ke

Average Speed 2,125 17.9 Km h

Density I
s Mass Density x Vol

Volt Fifty

Typical Questing

A has a density of 4s can

B has a density of 7g ca

If 100cal of A is mixed with 50g off

to make compound C what is the density

of compound C

Average Density Total Mess

Total Volume

Density Mass Vol

A 4s it 400g 100cm

B 7512 50g 507 cal

TOTALS 450g 107.14



density of C 450
107 14

I 4.2 glean


